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Lesson 13

Read Chapter 9

Inverse function
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y =- 1 - x
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solve for x ⑳= x



f - (y) = 3
2 W formulas

~

f "(x) = 1
for inverse

2
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I The graph of f �1
(y) is the graph of f (x) flipped around the

line y = x

I Domain f �1
= Range f . Range f �1

= Domain f

I To find a formula for f �1
set y = f (x) and solve for x
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Domain of
f(x) = e+ = (-x + x)

-

1 ↑ =W Range of f(x) = et
&

CO +b)
0 I



Remember

inverse of ex iS In x

f(x) = ex f
-1

(x) = Inx

et

·
- et0 Inx 0-- - y

Domain of et Range of et (0 + x)
( - 0 + x) Domain of luxI

Range of
inx

(n)eT) = X
In 13)

y2 -
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Does not satisfy
horizontel line

......... 3 = 1

test
.

(- 1 , 17 2
(1 , 17 ⑧i·8.

1

1) y = x 27 /x*
↳

I0
00

I I

24 -
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NOT A FUNCTION



- y =x2·0
I

0↓-

1 - 0 , +0 [O +b)

To find for mole for f-l

look et y
= x 2 solve for x

= I = X

but f(y) =I 5 NOT

Formule for e function
.
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Given g(x) = 2x � 1 on the domain 0  x  5 . Is g invertible ? If

it is find the inverse , its domain and its range

⑦=>
↑

#.
=sa

9 is invertible because it setisfies

horizontel line test

Domain of g is range of S : [-1 , 9]
Range g-1 is domein of g : [0 , 5]



to find a formula for g-l
Set y =

2x-1 solve for +

y + 1
=
2x

3
I X

2

5- "(y) = 3 ag
-

(x) = 1
2
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Given f (x) = 2
x�6 . Is g invertible ? If it is find the inverse , its

domain and its range

=- 6

↳
Invertible

e. I
!

Domain of =" = Range eff =

(- - 0) u(0 + x)



Range of -= Domain off =

(- 06)0(6 + x)

For mule for f :

3
=

Es solve for

y . (x - 6) = 2

x - 6 =
2

I

X
=

6 + 2

3
f
-

(3) = 6 + 2/y
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